;> restart;
> t:=n->t0+n*h;

L t:=n—t0+nh (1)
>1(2);
_ t0+2h (2)
> p:=x->f(t(n-1),ynml)*(x-t(n))*(x-t(n+1))/((t(n-1)-t(n))*(t(n-1)-t
(n+1)))
+i(t(n),yn)*(x-t(n-1))*(x-t(n+1))/((t(n)-t(n-1))*(t(n)-t
(n+1)))

+H(t(n+1),ynpl)*(x-t(n-1))*(x-t(n))/((t(n+1)-t(n-1))*(t(n+1)
-t(n)));

pi= x> f(ttn—1), ynml) (x—t(n)) (x—t(n+1)) 3)
(tthn—1) —t(n)) (t(n—1) —tin+1))
f(t(n), yn) (x—t(n—1)) (x—t(n+1))

(t(n) —t(n—1)) (t(n) —t(n+1))

f(ttn+1), ynpl) (x—t(n—1)) (x—1t(n))

_ (tth+1)—t(n—1)) (t(n+1) —t(n))

> simplify(p(x));
E%FUHh+¢O—x)Un+1)h—x+HDfu0+(n—1)hymnh%%(n—l)h—x )

+1t0) (nh+t0—X) f(nh+h+1t0, ynpl) -2 f(nh+1t0,yn) (n+1) h—x

_ +t0)))

> sort(simplify(int(p(x),x=t(n)..t(n+1))));

_(f(n—=1) h+t0,ynml) —8 f(nh+1t0,yn) —5 f(nh+h+1t0, ynpl)) h
12

(5)




